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48158 = 2 mHed 2 W 2 1

4/822H = 1 rHed 1 mHed 1 mHed
4829H %= B B B WY B B
5H 68 *= B B 1 mHey B B
581380 %= g mHed RHET mHEed mHed mHed
5H20H8 = wmHed mHEd mHEEY mHET wmHeEd mHed
58278 *= B B B WY B B
68 3H8 = mEed mHed mHEEY mHed mHeEd mHed
68108 %= Y mHed RHET mHEed mHed mHed
68178 x= B B B WY B B
6 H24H *= WY B B WY B B
78 18 %= Y mHed RHET mHEed mHed mHed
78138 7K wmHed mHeEd mHEEY mHET wmHeEd mHed
7HA278 7K B B B WY B 1

s8HA10H 7K g mHed BmHed 2 mHed mHed
8H24H 7K g mHed RHET mHEed mHed mHed
9A 7H 7K B B B WY B B
9RA21H 7K B B B WY B 1
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